R Notebook: PCA

suppressPackageStartupMessages ( { Hide
library(dplyr)
library(ggplot2)
library(GGally)
library(ggfortify)
})
Hide

# =7t dE7F Gl myE =Lt
nation <- (
read.delim( 'nation.txt', header=T, sep='\t', as.is=T,
fileEncoding='UTF-8', col.names=c('name', 'population', 'area', 'gdp'))
$>% tbl df()
$>% mutate(gdp per capita = round(gdp * 100000000 / population, digits=1)) # 12/2 GDP (gdp ZEO| ERl= "9 HE")
)

nation $>% sample n(5) # 212 CIO|f ME =0l

name population area gdp gdp_per_capita
H[Lf| <~ 2} 29270000 910000 3337.15 11401.3
HEL 740000 38000 24.75 3344.6
EofL[of 21660000 230000 1819.44 8400.0
ol2t=2 37050000 430000 1484.11 4005.7
2|5|HIFErR! 37000 160 32.00 86486.5

_ Hi
nation %>% filter(name == 'CHSIRIZ") de
name population area gdp gdp_per_capita
CHetTl= 49110000 9900 13211 26900.8
# @M, Zfo| Bmet 24 7o AMEEAZE HX}, Hide

ggpairs(nation %>% dplyr::select(population, area, gdp, gdp per capita))
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# 20| OFF 3 WY =} Mol 2= @] SOXILT, 24z 2I= FEC ride
nation <- (
nation
$>% mutate(population 1 = log(l+population),
area_ 1 = log(l+area),
gdp_1 = log(l+gdp),
gdp per capita 1 = log(l+gdp per capita)
)
)
ggpairs(nation2 %>% dplyr::select(population 1, area 1, gdp 1, gdp per capita 1))
Corr: Corr:
0.731 -0.359
Corr: Corr:
0.451 -0.358
Corr:
0.374
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# O] IO|HZ FMEEM (Principal Component Analysis, PCA)= ollEXf.
# ROIM 7|22Z HNEst=E prcomp() &4E SHSH Aoyt LR, ggfortify IZIXIQ| autoplot ()0 QXZE H7|H OZWEX| ol O2{=Ct.
m <- prcomp(~ population 1 + area 1 + gdp 1 + gdp per capita 1, data=nation, scale=T)
autoplot(m, data=nation2, size=-1.0, label=F, loadings=T, loadings.label=T, loadings.label.size=4) +
geom text(aes(label=name, family='NanumGothic'), size=3, check overlap=T)
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m <- prcomp(~ population + area + gdp + gdp per capita, data=nation, scale=T)
autoplot(m, data=nation, size=-1.0, label=F, loadings=T, loadings.label=T, loadings.label.size=4) +

geom text(aes(label=name, family='NanumGothic'), size=3, check overlap=T)
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for i in xrange(5):
print i,
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